VUEBHBLIT ILTAH
IMpOTpPaMMEI TIOBBINICHHA KBATH()HKAITHH OXpaHHHKOB 4, 5, 6 paspAmoB

KonndecTBo yueOHBIX 4acoB

HammeHoBaHHEe JHCITHILTHHEI

4 paspan S paspsan 6 paspsaa
BCCTO H3 HHX BCCTO H3 HHX |BCCTO| H3 HHX
IE0p |NpakT Icop | IpaKT ISOop | IIPaKT
1. IIpaBoBad moAroTOBKa 1 0,5 0,5 4 g 2 6 3 3
2. TaKTHKO-CIIEIHATTbHAA MOATr0TOBKA 1 0.5 0,5 . 1 1 v, 1 1
3. TexHHyeckad IIOArOTOBKa 1 05 | 05 1 0.5 | 05 1 .5 | B85
4. Oraepadi moAroTOBKa 4 1 3 6 2 4

5. Mcronp30BaHHe ClielTHATIBHBIX
1 0.5 0.5 1 3 | 0.3 1 .5 | 0.3

CpelICTB
6. OKazaHHe [IepBOH IIOMOINH 1 0,5 0,5 1 0,5 0,5 1 0,5 0,3
7.1IpoTHBOACHCTBHE TEPPOPHIMY 1 0.5 0.5 1 0,5 0,5 1 0.5 0,3

7. lToropad arrecTaiiig

2
—
—
2
—
—
-2
—
—

IITOI'O 8 4 4 16 | 20 | 9 | 11




